Division par Puissances de Dix (A)

Trouvez chaque quotient.

14 - 0,001 = 22 +10 =
77 +-1000 = 36 +10 =
5+0,001= 79 - 0,001 =
10 +- 0,001 = 38 +-100 =
29 +0,1= 96 - 0,001 =
100 = 0,001 = 2+01=
100 +-1= 80 +0,01=
24 + 1= 25+-1000=
90 +-1000= 11+0,01=
1+10= 60+1=
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Division par Puissances de Dix (A) Solutions

Trouvez chaque quotient.

14 + 0,001 =14 000 22+10=2,2

77 -1000=0,077 36 +-10=23,6
5+0,001=5000 79 + 0,001 =79 000
10+ 0,001 =10000 38 +100=10,38

29 +-0,1 =290 96 = 0,001 =96 000
100+~ 0,001 =100 000 2+-01=20

100 +-1=100 80+ 0,01=8000
24 +-1=24 25-+1000=0,025
90-+1000=0,09 11+0,01=1100
1+-10=0,1 60 +~1=60
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